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|ASbaba Daily Prelims Test- CSAT [Day 6 ]

English and Hindi

Study the following table and answer the questions based on it.

Expenditures of a Company (in Lakh Rupees) per Annum Over the given Years.

Item of Expenditure
Year
Salary Fuel and Transport Bonus Interest on Loans Taxes

1998 288 98 3.00 23.4 83
1999 342 112 2.52 32.5 108
2000 324 101 3.84 41.6 74
2001 336 133 3.68 36.4 88
2002 420 142 3.96 49.4 98

1.What is the average amount of interest per year which the company had to pay
during this period?

1. Rs. 32.43 lakhs
A. Rs. 33.72 lakhs

C. Rs. 34.18 lakhs D. Rs. 36.66 lakhs
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2. The total amount of bonus paid by the company during the given period is
approximately what percent of the total amount of salary paid during this

period?
A.  0.1% B. 0.5%
C. 1% D. 1.25%

3. Total expenditure on all these items in 1998 was approximately what percent of the

total expenditure in 2002?

A. 62% B. 66%

C. 69% D. 71%

4. The total expenditure of the company over these items during the year 2000 is?

A. Rs. 544.44 lakhs B. Rs. 501.11 lakhs

C. Rs. 446.46 lakhs D. Rs. 478.87 lakhs

5. The ratio between the total expenditure on Taxes for all the years and the total

expenditure on Fuel and Transport for all the years respectively is approximately?

A. 4:7 B. 10:13

C. 15:18 D. 5:8

[asbaba.com Page 2


javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;

[ASbaba.com

Solutions

1) Option D
Explanation:

Average amount of interest paid by the Company during the given period

23.4+ 32.5+41.6 + 36.4 +49.4
= Rs. lakhs
5
183.3
= Rs. —5 lakhs

Rs. 36.66 lakhs.
2) Option C

Explanation:

Required percentage = | ™0™ 345 + 324 + 336 + 420)

17 .
= | 1710 ¥ 100 |%

=2 1%.

(3.00 + 2.52 + 3.84 + 3.68 + 3.96)
x 100 (%

3) Option C

Explanation:

(288 + 98 + 3.00 + 23.4 + 83)
Required percentage = x 100 (%

(420 + 142 + 3.96 + 49.4 + 98)

495.4 .
= | 713.36 X 100 |%

73 69.45%.

4) Option A
Explanation:
Total expenditure of the Company during 2000

= Rs. (324 + 101 + 3.84 + 41.6 + 74) lakhs
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= Rs. 544.44 |akhs.

5) Option B

Explanation:

(83 + 108 + 74 + 88 + 98)
Required ratio =

|:(98 + 112 + 101 + 133 + 142)

|1ASbaba Daily Prelims Test- CSAT [Day ]

farer aiferer &1 regga #YU 3R 37 oW 3raRd g & 39X dfo

T 71w auf & vw Hua F1 yfa a¥ (F@ I H) =T |

2 =g f A
aqer $uT 3k IRaEa I I U W g T
1998 288 98 3.00 23.4 83
1999 342 112 2.52 325 108
2000 324 101 3.84 41.6 74
2001 336 133 3.68 36.4 88
2002 420 142 3.96 49.4 98
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1 #Fuelt qarr afyr & ket B e arer wia @ sarer & sparaner A
- 3iwa Tl T4 @2

A. Rs. 32.43 o@ B. Rs. 33.72 <@

C. Rs. 34.18 om@ D. Rs. 36.66 <@

2. & Tl A & R Fue q@RT NTW B For AR FT A 59
Iafer & aRrer spardrer Y A AT hr FoT AR 1 TS fhar wforera
g2

A. 0.1% B. 0.5%

C. 1% D. 1.25%

1998 # g7 weft avqal W Fol AT 2002 F FAAHTA Fel G HT FqT
gforera 41?

A. 62% B. 66%

C. 69% D. 71%
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4 . . .
. 1998 # g1 Wl aEI3IN W Fol sTT 2002 F FAHA Fel T HT FAT
gfaera a1 ?
A. Rs. 544.44 @ B. Rs. 501.11 om@&
C. Rs. 446.46 <@ D. Rs. 478.87 om@
5 , . .
. sl aef & AT & W Fa =77 3R it ant F v fua 3R aRaga «w
Fel @I FHAF T FT AT AMHA & ?
A. 4:7 B. 10:13
C. 15:18 D. 5:8
Solutions
1) Option D

Explanation:

& Tt 3af & e Suelt qERT SpITaTeT AT v sted TR §

_ 23.4+ 32.5+41.6 + 36.4 +
- |: 49.4 ] CIEC]
Rs.

5
. riss.
= 3 Citcy
Rs. [— J
5

= Rs. 36.66 @ .
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2) Option C

Explanation:

3.96)
(288 + 342 + 324 + 336 + 420)

ITERTF gfaea |: (3.00 + 2.52 + 3.84 + 3.68 + » :|
%
00

|:17 « :|

= 171 %
100

0

= 1%.

3) Option C

Explanation:

(288 + 98 + 3.00 + 23.4 +

TR Fiaerd ~ 83) X N
~ | (420 + 142 + 3.96 + 49.4 + 100 '
98)
4954
6
=2 69.45%.
4) Option A

Explanation:

zoooéa‘rrlﬁéq?ﬁwgﬁrm

Rs. (324 + 101 + 3.84 + 41.6 + 74) oI@

Rs. 544.44 or@ .

5) Option B

Explanation:

(98 + 112 + 101 + 133 +

ST |:(83+108+74+88+98) ]
142)

[4 ]
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